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Coq < Require Import List.

Coq < Print list.

Inductive list (A :
nil : list A

: A -> list A -> list A

For nil: Argument A is implicit

Type) : Type :

| cons

For cons: Argument A is implicit
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Implicit Arguments nil [A].

Implicit Arguments cons [A].

Jd0dddooooooooooooon
OO0O0O00O0Ocons nat 3 (nil nat) O[O
J0ddooooooooooooooon
oooooao

Coqg < Print prod.
Inductive
prod (A:Type) (B:Type) : Type :=

pair : A ->B -> A x B

For pair: Arguments A, B are implicit
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Inductive even : nat -> Prop :=

O_even : even O

| plus_2_even : forall n:nat,

even n -> even (S (S n)).
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even is defined

even_ind is defined
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Lemma le_even_4 : even 4.

Proof.

apply plus_2_even. apply plus_2_even.

apply O_even.
Qed.
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Coq < Print le.

Inductive le (n:nat)
len : n<=n

| le_S : forall m:nat,

n<=m->n<=8Sm
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: nat -> Prop :
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